	05557/Ritf3 530B
	GMMENT
From: Date:	Veh No: SKO 23B Yr Regn: 2017 1849
Estimated Cost:	Type: M.Car / M.Cycle / Bus / Van / Lorry / Taxl / Prime Mover /
OB TEL WELTE RES ! OD RES ! EVA ! INV ! MIV	Truck/ Trailer or
To Inspect Vehicle No: SK3 23B	Make: ASTON MARTIN DBIL . C.C 5204
at Workshop m/s WGARNGS	Colour A/C: Insured / Std / NI / NA
of 249, Meximora Ro	Sp.Reading 19643 T/Radio: Insured / Std / NI / NA
Insured: WO (Eng/No:
'Policy No.	CINO: SCFRLFA VOHGL 02730
Claims No. M12D15652105	Gen. Cond: Good / Falgi Poor / Burnt
	Steering: Inorder / Jammed / Leaked / Burnt or
	Brake: Inorder / Jammed / Leaked / Burnt or
(Client's Record)	
Make of Veh:	Modi: NII / SKTM / STD A/Rim or
	Tyre Size: F: 255/60ZR20
(Pollcy Condition)	R:
Remark: The veh had commenced its N/S O/S	1 50 50 1 1 1 1 1 1 1 1 1
repair at the time of inspection.	TOYO / YOKO or .
Bail. or Market Value: 543K	Front
IDAC Accident Rport: Consistent?: Yes or No	R/Bal. a mm R/Bal. 6 mm
GIA / PR Seen: Consistent? : Yes or No	L/Bal, 6 mm L/Bal, 6 mm
Est. Repairs: days Res.: Yes or No	D.O.A. 30 08 21 D.O.I. 18/05/21
	1003
	U.1
CA / REV. / REP. / 24 HRS	Des. of Damages; Frt / Rear / O/S / N/S / U/C / Rooftop or
Vehicle: IN / OU	
outo,	The U/C / Chassis frame / Body Structure affected due to collision
Date / Time Action / Instruction	
Repair Lait - 259K	91740.50
	91740.50
Finalised amount of \$ 85,11	5.40 / 9 days of repair
(red: 6625.10;7%)	
· ·	
.50	
e/Time, File Pass to? Prell. Report	Days Of Repair: 9
: Final Report	Resurvey No. of Trip: Survey Fee:
e/Time, File Return to?	. Transportation:
	Fee: : Site insp (\$)_s+Rs_s
ADDA	THE PARTY OF THE P
•	: Interview (\$) Photos
pistorniel:	: Tech, Invs (\$) Others
Designation of the same of the	Control of the Contro
np Sun / LE.J: (\$)	: Westend (\$)
Committee of the Commit	TOTAL



SERVICE EST	. Т	. M	LA	ıı	
-------------	-----	-----	----	----	--

	SERVICE		ATE			
70237 -	- C00001 SL: SERVICE SALES - F	PC				
Mr Low	See Ching (Liu Shijin) op Park		GST Reg.	No: M28	3920628X	
23 Gall	op Park	Inv.No	: B&P	0	Page 1	
	-	Inv.date.	: 04/05/20	21		
		WIP No	: 22987			
Singapo	ore 259030	Veh. In/Out	t: 1 ,	311		
		*Tel.No				
		Reg. No				
Closed	by : Richmond Ho	Reg date	: 20/09/20	17		
Syc. Con	sultant :	Mileage .	.: 0			
Remarks	sultant : : Mr Low See Ching (Li	Chassis No	: SCFRLFAV	OHGLO:	2730	
Homozno	······ · · · · · · · · · · · · · · · ·		10000			
Op.No	Description	Mech Qty	Price Dis	sc% Pk	g Amount G	
				-14		
902	יים ארם דים איים שו ואסבים דים איים או ואסבים דים איים איים איים איים איים איים איי	0	9600 00	Ω	9,600.00 S	ድመህ
DDACKET E	TO REPLACE FRONT BUMPER, FRT FRT RH FENDER, FRT	W XX	3000.00	•	3,900.00 2	800
	T HEADLAMP, FRT	, - , ,				
	PANEL, ETC					
		0	6500 00	Λ	6 500 00 S	2150
OUU /	TO PUTTY SPRAY PAINT ON FRT	0	0300.00	O	6,500.00 S	7030
	T BUMPER, FRT RH @1300 x L, 5					
FENDER, ET		•	60.00	0	60.00 S	
R06	TO INSTALL FRONT NUMBER PLATE	0	50.00	0	50.00 S	
0031	TO INSTALL FRONT NUMBER PLATE TO REPLACE FRONT RH RIM COMPUTERISED WHEEL ALIGMENT TO FOCUS HEADLAMP	0	50.00	0	30.00 8	
0033	COMPUTERISED WHEEL ALIGMENT	0	280.00	0	280.00 S	
280	TO FOCUS HEADLAMP	0	250.00	0	250.00 S	/_
280	TO CHECK WIRING INCLUDE	0	1250.00	0	1,250.00 S	
	OF ALL ELECTRICAL					
MODULES						
R16	TOWING CHARGES	0	385.00	0	385.00 S	
KIO	HOOD ASSEMBLY but	1.0 EA	17218,10		17,218.10 S	
	INTAKE FOAM CENTRE ?	1.0 EA	311.80		311.80 S	
	INTAKE FOAT CENTRE ,	1.0 11.	011.00		J 44-16-	
				()	45ml Hp 2001001	
	LKK Auto Consultants hence notify			- 1	. 0	. 6
,	the Repairer of the following:			,	Hp 7001001	6 B
	To resurvey before/after spray painting	, 47			•	
	 To display damaged part(s) during resurvey 				9 day:	ξ
	 Parts prices are subject to confirmation 				gary.	,
	Third party survey is on a "Without Prejudice" basis				1.100	Quinz
*	No illegal modification(s) is allowed				10/05/21	C (100
	 Supplementary item(s) must be resurveyed <u>and</u> is subject to final approval from Insurance Company 				Ex cas s	· 10 K
	Acknowledged by Repairer				Excess	, 101
	Signature:				Keveri	
	Date:					. 1
					Revort Rosy before	n port
902					1 - 7	I
Wearnes Automotis	in Dec. Land					

Wearnes Automotive Pte. Ltd. 45 Leng Kee Road, Singapore 159103 T 6430 4700 www.wearnes.com

Co reg no. 199501400R / GST reg no. M28920628X



SERVICE ESTIMATE

SL: SERVICE SALES - PC 70237 - C000**01**

GST Reg.No:M28920628X Mr Low See Ching (Liu Shijin)

0 Page 2 Inv.No. : B&P 23 Gallop Park

Inv.date.: 04/05/2021

WIP No. : 22987 Veh.In/Out:

Singapore 259030

*Tel.No. . : Mobile: 93832733

Reg.No. : SKJ23B

Reg.date.: 20/09/2017 Closed by : Richmond Ho Svc Consultant :

Mileage . :

Chassis No: SCFRLFAVOHGL02730 Remarks : Mr Low See Ching (Li

Op.No	Description	Mech Qty	Price Disc	% Pkg Amount G
	2			
	INTAKE FOAM RH UPPER 🕏	1.0 EA	207.40	207.40 S
	INTAKE FOAM LH UPPER '-	1.0 EA	207.40	207.40 S
	GAS STRUT HOOD?	2.0 EA	152.30	304.60 S
	HINGE ASSY HOOD LH	1.0 EA	1644.40	1,644.40 S
	HINGE ASSY HOOD RH	1.0 EA	1644.40	1,644.40 S
	ADJUSTABLE STOP	2.0 EA	98.90	197.80 S
	BOLT M8x55 HEX FLG 8	4.0 EA	1.50	6.00 S
	BLT&WSH-M8 x 25 HEX	8.0 EA	4.20	33.60 S
	NUT-M20 HEX THIN	2.0 EA	4.20	8.40 S
	GAS STRUT BALL STUD	2.0 EA	7.00	14.00 S
	WASHER M8 PLAIN FORM	4.0 EA	0.30	1.20 S
	PNL RAD GRL CTR	1.0 EA	1551.40	1,551.40 S
	INTAKE FOAM LOWER ?	2.0 EA	23.50	47.00 S
		1.0 EA	290.90	290.90 S
	INTKE FM RH OTBRD	1.0 EA	622.60	622.60 S
	AUX RAD DUCT RR RH C	1.0 EA		1,691.70 S
	PNL H/LMP MNT RH 50			16.20 S
	SCREW-M6x20 PACK 20 ~	6.0 EA	2.70	10.20 5



SERVICE ESTIMATE

70237 - C00001 SL: SERVICE SALES - PC

Mr Low See Ching (Liu Shijin) GST Reg.No:M28920628X

23 Gallop Park Inv.No. . : B&P 0 Page 3

Inv.date.: 04/05/2021 WIP No. : 22987

Singapore 259030 Veh.In/Out:

*Tel.No. . : Mobile: 93832733

Reg.No. : SKJ23B

Closed by: Richmond Ho Reg.date.: 20/09/2017

Svc Consultant: Mileage .: 0

Remarks: Mr Low See Ching (Li Chassis No: SCFRLFAVOHGL02730

Op.No	Description	Mech Qty	Price Disc	Pkg Amount G
	SCREW/WSHR M6x20(10)	10.0 EA	1.50	15.00 S
	BRKT HD/LP NUT PLT **FIR TREE BTN-PACK 20 ***	6.0 EA 2.0 EA	22.90 21.20	137.40 S 42.40 S
	PANEL RAD GRILLE RH ?	1.0 EA	369.10	369.10 S
	GOP SIDE LOWER RH ?	1.0 EA	91.00	91.00 S
	GOP SIDE UPPER RH ? 2	1.0 EA	126.70	126.70 S
	COND SIDE AIR PNL RH	1.0 EA	72.70	72.70 S
	FRT BMPR ASSY ROW TOWN	1.0 EA	5676.50	5,676.50 S
	FRT BMPR MESH ?	1.0 EA	1204.10	1,204.10 S
	CLIP SPG M6 PK OF 10 .	7.0 EA	2.40	16.80 S
	RET GRILLE BMPR(10) M	7.0 EA	0.90	6.30 S
	SPLITTER SPRT CABLE	2.0 EA	71.10	142.20 S
	AUX RAD DUCT FRT RH ?	1.0 EA	131.20	131.20 S
	SCR M6 x 14 HD INT	6.0 EA	2.60	15.60 S
	SCREWM6x10 PAN HEAD	10.0 EA	0.70	7.00 S
	TOL COMP FIX :	8.0 EA	26.10	208.80 S
	NUT & WASHER M6 HEX ?	8.0 EA	14.90	119.20 S



SERVICE ESTIMATE

SERVICE	FOITMATE	
70237 - C00001 SL: SERVICE SALES - I		
/ Mr Low See Ching (Liu Shijin)	GST Reg.No:	
23 Gallop Park	Inv.No : B&P	0 Page 4
/	Inv.date. : 04/05/2021	
	WIP No : 22987	
Singapore 259030	Veh.In/Out:	
	*Tel.No : Mobile: 938	32733
	Reg.No. : SKJ23B	
Closed by : Richmond Ho	Reg.date.: 20/09/2017	
Svc Consultant :	Mileage . : 0	
Remarks: Mr Low See Ching (Li		L02730
TOMOLIS THE TOWN DOG OFFILES (EL	0120010 1101 0011-0111	
Op.No Description	Mech Qty Price Disc%	Pkg Amount G
BOLT &WASHER-M6x25 A	8.0 EA 3.20	25.60 S
WINGS BADGE *	8.0 EA 3.20 1.0 EA 1094.00	1,094.00 S
RAD GRILLE BRIGHT		
	1.0 EA 3791.10	3,791.10 S
IN-GRL PDC HOLDER RH	1.0 EA 94.30	94.30 S
CAMERA BEZEL - FRONT	1.0 EA 84.10	84.10 S
SC ST4.8 x 1.59 x 19	12.0 EA 1.70 10.0 EA 2.00	20.40 S
SCREW-4.8 x 25		20.00 S
BUMPER FINISHER ?		1,380.50 S
FRT W/ARC LNR FRT RH 7	1.0 EA 808.60	808.60 S
CLIP SPG M6 PK OF 10 M	4.0 EA 2.40	9.60 S
FRT W/ARC LNR MID RH ?	1.0 EA 557.80	557.80 S
H/LAMP RHS RHD 500	1.0 EA 14064.50	14,064.50 S
H/LAMP ADJUSTER M20 ₩	6.0 EA 24.80	148.80 S
WSHR 25mm x 6.4mm-10 ~	6.0 EA 1.30	7.80 S
WASHER LOCK SGL COIL	6.0 EA 0.60	3.60 S
SCREW M6X50 SS SKT ~	6.0 EA 4.00	24.00 S
WHL 2 FRT BLK GLS	1.0 EA 5868.10	5,868.10 S
	Gross Total.	80,778.70
Labour Total 18,375.00	Net	80,778.70
Parts Total 62,403.70	GST @ 7.0%	The same of the sa
Package Total 0.00	Total	86,433.20
	Paid	0.00
	Please Pay	86,433.20

GST: S=StdRated; O=OutOfScope; Z=ZeroRated

Wearnes Automotive Pte. Ltd.45 Leng Kee Road, Singapore 159103 T 6430 4700 www.wearnes.com

Co reg no. 199501400R / GST reg no. M28920628X

30004 / National Assessment Centre Services [159721] DATE & TIME: 03/05/2021 12:58 (SGT) ION: 1 (03/05/2021 12:58 (SGT))

© SINGAPORE ACCIDENT STATEMENT

IMPORTANT NOTICE

1. Please report correctly the details of the accident to speed up the claims process.

This Form must be completed by the Policyholder and/or the Authorised Driver

3. Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or witholding of material facts may allow insurance companies to repudiate policy liability.

4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.

5. Any false reporting may be referred to the Police for investigation.

6. This report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will, for a fee, be made available upon application by interested parties.

7. By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.

ACCIDENT STATEMENT

Date of Submission Date of Accident **Exact Location of Accident Additional Location Information** Country/State of Loss

03/05/2021 12:58 (SGT) 30/04/2021 18:30 (SGT) McCallum St, Singapore

Singapore

DETAILS OF OWN VEHICLE

Vehicle Registration Number

SKJ23B

INSURED/POLICYHOLDER

Is company?

Name Of Registered Owner

NRIC No

Email Address

Mobile Phone No

Alternative Phone No

No

LOW SEE CHING (LIU SHIJIN)

SXXXX530B

elseec@gmail.com

(Phone) +65-93832733

+65-93832733

VEHICLE PARTICULARS

Manufacturer

Model

Variant

Exact purpose for which vehicle was being used at time of

accident

Are you claiming under your own insurance policy for repair to

your vehicle?

Vehicle Category

Transmission

CC

Aston Martin

DB11

Private use

No - Claiming third party

Private car

Auto

5204

INSURANCE COMPANY

Name of Insurance Company

Type of Coverage

Fleet Policy

Policy Number

Cover Note Number

United Overseas Insurance Ltd Comprehensive

No

DHOM120036701801

DRIVER

Name of Driver

NRIC No

LOW SEE CHING (LIU SHIJIN) SXXXX530B

Accident report SN0821530004

Birth
ation
Of Driving Pass
ing experience

obile Number
Alt. Phone Number
Email Address
Address

Address complement

Postcode

Is the driver the policyholder?

If No, Relationship of the Driver with the Insured

Does Driver Own Other Vehicles?

Vehicle Registration Number of Other Vehicle Owned by Driver

Insurance Company of Other Vehicle Owned by Driver

GENERAL INFORMATION OF THE ACCIDENT

Type of Accident Weather Conditions Road Surface

OTHER INFORMATION

Was any foreign vehicle involved in the accident? Number of vehicles involved in the accident Was anybody injured in the Accident? Was any injured conveyed to hospital by ambulance? Was any other material or property damaged?

Number of Passengers (Including Driver)
Has the driver been approached by unknown person(s)

Has the driver been approached by unknown person(s) soliciting/offering accident claims assistance?

DETAILS OF POLICE ACTION

Was the accident reported to the police?
Police Station Name
Police Station Phone No
Alt. Police Station Phone No
Police Station Address
Was notice of intended Prosecution given?

If you against whom?

If yes, against whom?

CIRCUMSTANCES OF ACCIDENT

PLEASE REFER TO NOTICE OF REPORTING

ATTACHMENT(S)

Are accident photos available for attachment?
Was there any video captured by Car Camera?
Was there any audio recorded?

Was there any audio recorded?

17/02/1975 Indoor 07/11/1995

25 YEARS AND 5 MONTHS

Male

(Phone) +65-93832733 +65-93832733 elseec@gmail.com 23A MARIGOLD DRIVE

576431

Yes

No

-

Collision - Major/Minor Rd

Clear Dry

No -Yes

No

2

Yes

No

Yes

Bukit Timah Neighbourhood Police Centre (Phone) +65-18004629999

(Fax) +65-64628933

1 Duke Road Singapore 268914

No

No

DETAILS OF OTHER VEHICLE PROPERTY 1

Vehicle Registration Number Vehicle Manufacturer Vehicle Model Vehicle Variant Vehicle Colour

Vehicle Category

XD6848B

-

Yes

Yes

_

Commercial vehicle



or Driver
port No/FIN
fact Number
dress
ddress complement
Postcode
Insurance Company Name
Nature Of Damage
Details of property damaged in accident
No. Of Passenger (Including Driver)

RAJAN A/L RAMAU GXXXX628R (Phone) +65-85049904

-

-

-

SKETCH PLAN

IMPORTANT NOTICE

- 1. Please report correctly the details of the accident to speed up the claims process.
- 2. This Formmust be completed by the Policyholder and/or the Authorised Driver.
- 3. Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or withholding of material facts may allow insurance companies to repudiate policy liability.
- 4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies
- 5. Any false reporting may be referred to the Police for investigation.
- 6. The report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will for a fee be made available upon application by interested parties.
- 7. By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.
- 8. Consent under the Personal Data Protection Act (PDPA)

Lunderstand, acknowledge, agree and consent that :

- (a) My insurer, my workshop and the General Insurance Association of Singapore ("GIA") may/are permitted to collect, use, disclose and/or process my personal data/personal information set out in this (form) and any other personal information provided by me or possessed by my insurer (collectively the "Personal Information") and disclose and transfer such Personal Information to all insurer(s) who have insured vehicle(s) involved in this accident (all insurer(s) who have insured vehicle(s) involved in this accident shall be collectively referred to as the "Insurers"), the Insurers' law yers/law firms, the Monetary Authority of Singapore and any relevant government agency/authority (such as the police), for the purpose(s) of :
- (i) processing, handling and/or dealing with my claims including the settlement of the claims and any necessary investigations relating to the claims:
- (ii) investigating the accident and/or my claims;
- (iii) carrying out and/or dealing with my instructions or responding to any enquiries by me;
- (iv) administering my claims (including the mailing of correspondence, statements, invoices, reports or notices to me, which could involve disclosure of certain personal data about me to bring about delivery of the same as well as on the external cover of envelopes/mail
- (v) complying with applicable law in administering, processing, handling and/or dealing with my claims. (collectively the "Purposes")
- (b) all insurer(s) who have insured vehicle(s) involved in this accident and the insurers' law yers/law firms, may/are permitted to collect, use, disclose and/or process my Personal Information for one or more of the above Purposes; and
- (c) my Personal Information may/can be disclosed by any of the Insurers and/or GIA to their third party service providers or agents (including their law yers/law firms), which may be sited outside of Singapore, for one or more of the above Purposes.

Policyholder's Signature / Date & Time 5/3/2121

Sketch Plan

Driver's Signature (If driver is not the policyholder) / Date

& Time 5/3/2.21 Witnessed by Reporting Centre

Personnel

81 KD 6848B O Drivar lest a gap for vehicle to tun ortform borch Ique.

2) All vehicle stationery waiting for to Occ 1844

RAPHIR	20	2007104	OF	RUGORING	
. Nichola	Maria de la compansión			U	
	125			A STATE OF THE STA	
			-		
			-		
	6				/
and the same of th					
	1.70				
A PROPERTY.					
		A A In the			
and the state of the state of					
	T WAS IN	ton be the	the second		
	-				
				/	
			-/-		
				1 1 1	
	-		1		
	The Table		1		
	N. Company		1		
	A. C.				
				A second second	
	1				
Declaration					
We declare the f	oregoing c	particulars are true in	every res	pect.	
1			, 100	1	
	/				
	/		B		111
A			1		N princison
Policyholder's Sig	notice / D		1	driver is not the policyholder) / Date	9 831031 707

CONFIDENTIAL

Annex E

NOTICE OF REPORTING

position along N bearing registrat both of our veh vehicle Due to away. I took pho 2 Nobody 3 If th complied with Rank/Name Date: S/D Ref: Police Post	that		Low See Chi	ng (Liu Shijin)	, NRIC/FIN
V1) V2) Facts: 1 On the position along Mearing registrate both of our vehicle Due to away. I took phosphology and the complied with Rank/Name Date: S/D Ref: Police Post	, has reported	to the Police	a non-injury	traffic accident which	
V1) V2) Facts: 1			McC	allum Street	
V2) Facts: 1 On the position along Modering registrate both of our vehicle Due to away. I took phose 2 Nobody 3 If the complied with Rank/Name Date: S/D Ref: Police Post	021 at	1830hrs	involvin	g the following vehicles:	
Facts: 1 On the position along Nobearing registrate both of our vehous vehicle Due to away. I took phosphology and the complied with Rank/Name. Date: S/D Ref: Police Positions.	SKJ23B	(Info	rmant)		
1 On the position along Modering registrate both of our vehous vehicle. Due to away. I took phosphology and the complied with Rank/Name. Date: S/D Ref: Police Positional	XD6848B	-			
position along N bearing registrat both of our veh vehicle Due to away. I took phe Nobody Nobody If th complied with Rank/Name Date: S/D Ref: Police Post					
Date: S/D Ref: Police Post	McCallum Streetion plate XD6 hicles started to the collission notos of the dame was injured a	et waiting for 848B on my o move on he may vehicle hages and exc and no convey as reported to	the traffic lig right was stat owever the d had sustaine changed partic vance made. I	the out from a backlane and the totum green. During we itenary too. When the trafferiver V2 had collided on discribused damages which rulars with the other party, am lodging this for record of this 24 hours of its occurrence.	fic light turned greet my right side of m needed to be towe purposes.
S/D Ref: Police Post	e of Issuing Off	icer:	SGT (3) T1	30339 Nur Fatin	
Police Post	30/04/2021	Time:	2151	hrs	
Original -	56				
Original -	st/Unit:	Bukit Timah l	NPC / Tanglin	Police Division	
Duplicate -	to be issued to in to be submitted t	iformant to Traffic Polic	CONFIDE	NTIAL	
			ıDK/ 15	N. C.	

> Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

Owner ID Type:	Singapore NRIC
Owner ID:	530B
Vehicle No.:	SKJ23B
Vehicle to be Exported:	No.
Intended Deregistration Date:	11 May 2021
Vehicle Make:	ASTON MARTIN
Vehicle Model:	DB11
Primary Colour:	Silver
Manufacturing Year:	2017
Engine No.:	AE31/48911
Chassis No.:	SCFRLFAVOHGL02730
Maximum Power Output:	447.5 kW (600 bhp)
Open Market Value:	\$201,057.00
Original Registration Date:	20 Sep 2017
First Registration Date:	20 Sep 2017
Transfer Count:	C C C C C C C C C C C C C C C C C C C
Actual ARF Paid:	\$333,903.00
PARF Eligibility:	Yes Committee of the Co
PARF Eligibility Expiry Date:	19 Sep 2027
PARF Rebate Amount:	\$250,427.00
COE Expiry Date:	19 Sep 2027
COE Category:	E - Open - all except motorcycle
COE Period(Years):	TO THE REPORT OF THE PROPERTY
QP Paid:	\$52,751.00
COE Rebate Amount:	\$33,526.00
Total Rebate Amount:	\$283,953.00

OK

Aston Martin DB11 V12 5.2A

Overview

Financial

Accessories

Similar

Research

Photos

Map



Price	\$548,000		
Depreciation ②	\$57,490 /yr View models with similar depre	Reg Date .	21-Aug-2017 (6yrs 3mths 9days COE left)
Mileage	21,000 km (5.6k /yr)	Manufactured ⑦	2017
Road Tax ⑦	\$5,834 /уг	Transmission	Auto
Dereg Value ⑦	\$313,583 as of today (change)	OMV ①	\$223,323
COE ②	\$52,751	ARF ⑦	\$373,982
Engine Cap	5,204 cc	Power	447.5 kW (600 bhp)
Curb Weight (1,870 kg	No. of Owners ②	3
Type of Vehicle	Sports Car		

Features